
I BIOCLIMATIC PERGOLA FREE STANDING 4 POSTS I 

3x3m/3x4m 



Plastic

hammer



Item

Carton

1/3

Carton

2/3

1B-01 1B-12

Qty

4 4

1B-13 4 1B-14 1 1B-15 1

1B-16 1B-171 1 1B-18 1

1B-19 8 1B-20 48 1B-21

1B-22

16

24 1B-23 26 1B-24 1

1B-11 4

1B-02 1 1B-03 1 1B-04 2

1B-05 4 1B-08 2 1B-09 2

Carton

3/3

1B-06 18

3*3-1

Item

Qty

Item

Qty

  3×3m

1B-06 6

1B-48 24 1B-49 23 1B-50 1

1B-51 96



Item

1B-01

Drawings

4

Qty

1

1

2

4

1

2

2

1B-02

1B-03

1B-04

1B-05

1B-06

1B-08

1B-09

3*3-2

+

24



Item

Qty

4

41B-11

Drawings

+

1B-12

1B-13

1B-14

1B-15

4

1

1

1B-16

1B-17

1B-18

1

1

1B-20

1

1B-19

1B-21 16

48+2

8

24+2

Item

Qty

26+2

1B-22

Drawings

1B-23

1B-24 1

3*3-3

+

M8*20

M10*80

M4.2*19

24

96+4

23

11B-50

1B-51

1B-48

1B-49

M3.5*25



2904

2
9

0
4

2
9

0
4

2904

120 2664 120

1
2

0
2

6
6

4
1

2
0

2

9

0

4
2

9

0

4

  3×3m

3*3-4



Item

Carton

1/4

Carton

2/4

1B-01 1B-12

Qty

4 4

1B-13 4 1B-14 1 1B-15 1

1B-16 1B-171 1 1B-18 1

1B-19 8 1B-20 66 1B-21

1B-22

16

24 1B-23 28 1B-24 1

1B-11 4

1B-02 1 1B-03 1 1B-04 2

1B-05 4 1B-08 2 1B-09 2

Carton

4/4

Item

Qty

Item

Qty

1B-06 16

  3×4m

3*4-1

Carton

3/4

1B-06 17



Item

1B-01

Drawings

4

Qty

1

1

2

4

33

2

2

1B-02

1B-03

1B-04

1B-05

1B-06

1B-08

1B-09

+

3*4-2



Item

Qty

4

41B-11

Drawings

+

1B-12

1B-13

1B-14

1B-15

4

1

1

1B-16

1B-17

1B-18

1

1

1B-20

1

1B-19

1B-21 16

66+2

8

24+2

Item

Qty

28+2

1B-22

Drawings

1B-23

1B-24 1

+

M8*20

3*4-3

M10*80

M4.2*19

33

132+4

32

11B-50

1B-51

1B-48

1B-49

M3.5*25



2904

3
9

4
4

3
9

4
4

2904

120 2664 120

1
2

0
3

7
0

4
1

2
0

2

9

0

4

3

9

4

4

  3×4m

3*4-4



1B-01

1B-13

1B-22

4

4

24

a
1B-01

1B-13

1B-22

1B-01

1B-13

1B-22

b

x4

1



a

1B-03

1B-14

1B-03

1B-14
1

1

b

1B-03

1B-25

+

2



b

1B-04

1B-18

1B-04

1B-04

1B-18
1

2

a

x2

3



4

1B-18

1B-03
1

1

1B-02

1B-18

1B-02

a

b

1B-02
1

1B-02

1B-03



1B-21
16

1B-21

a

5

1B-21

b



4

8

1B-11

1B-19

1B-11

1B-19

1B-11

1B-19

a

b

6



7

1B-23

4

x

1B-05

1B-23

b

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-05

1B-23

1B-05

1B-05

1B-05

5

6

5

6

Warning:

Before installation, tear off the

protective film of the tape on the

back side of Gutter.



1B-12
4

1B-12

a

b

1B-24
1

8

1B-24

1B-12



9

1B-48

X

X

1B-06

X*2

1B-51

a

b

1B-06

1B-48

1B-51



10

1B-49

1B-50

X

X

1

1B-51

a

b

c

d

1B-49

1B-06

1B-51

1B-51

1B-51

x1



1B-07

1B-06
1

x

a

b

1B-06

1B-071B-07

11



1B-08

1B-08

a

1B-08
2

12

1B-23

3B-23
10

c

b



1B-20

1B-09

x

2

warning:

Bolts must be tightened

1B-20

1B-09

b

1B-20

1B-09

a

13



1B-17

1B-17

a

b

1B-17
1

+

14



1B-24

b

c

1B-24

1B-24

1B-16

1B-16
1

1B-24
1

a

15



Warning

In Snow season or in case of snow

forecast open up your shutters in vertical

position to avoid any damaging on your

pergola. .

a

b
1B-15

1B-15

1B-15
1

16


	1号手动3×3-3×4-3×5米2023.10.3101
	1号手动3×3-3×4-3×5米2023.10.3102
	1号手动3×3-3×4-3×5米2023.10.3103
	1号手动3×3-3×4-3×5米2023.10.3104
	1号手动3×3-3×4-3×5米2023.10.3105
	1号手动3×3-3×4-3×5米2023.10.3106
	1号手动3×3-3×4-3×5米2023.10.3107
	1号手动3×3-3×4-3×5米2023.10.3108
	1号手动3×3-3×4-3×5米2023.10.3109
	1号手动3×3-3×4-3×5米2023.10.3110
	1号手动3×3-3×4-3×5米2023.10.3111
	1号手动3×3-3×4-3×5米2023.10.3112
	1号手动3×3-3×4-3×5米2023.10.3113
	1号手动3×3-3×4-3×5米2023.10.3114
	1号手动3×3-3×4-3×5米2023.10.3115
	1号手动3×3-3×4-3×5米2023.10.3116
	1号手动3×3-3×4-3×5米2023.10.3117
	1号手动3×3-3×4-3×5米2023.10.3118
	1号手动3×3-3×4-3×5米2023.10.3119
	1号手动3×3-3×4-3×5米2023.10.3120
	1号手动3×3-3×4-3×5米2023.10.3121
	1号手动3×3-3×4-3×5米2023.10.3122
	1号手动3×3-3×4-3×5米2023.10.3123
	1号手动3×3-3×4-3×5米2023.10.3124
	1号手动3×3-3×4-3×5米2023.10.3125
	1号手动3×3-3×4-3×5米2023.10.3126

